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1. Fill your detaIIs with ball point pen in the OMR Sheet.
S0t OMR He0e® S 9565000 &S Fonods aéanlé‘ K)oaé@;"ao

- 2. Write the Question Paper Code No. in the box glven in the OMR Sheet.
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3. Consult the Invigilator for any doubts while filling the OMR Sheet.
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4. Fillthe answers in the given © inthe OMR Sheet with Black / Blue Point Pen. Do not write
answers on the question paper.
o) $Srgrsoes D8NS OMR HES0s* 29 O Black/ Blue Point Pen T ROHSBE.
BTG5S &835(350 QoRo .

5." Each question carries One mark.
D8 BHL a8 Sy, _

6. If answer is not known to you of any question, don’t waste time and proceed to the next
question.
BT 28 (HY) BOCHEXB, oo S5 v‘.ﬁoﬁo&ow Sorees @{1& a;’m@éo (OIS
woh o, Basrd,

7. Read the Instructions carefully and answer. -
Sriod v S8 asrmen |Frahod.

V24-76




" Question Pdper A
. Booklet Code ;

V24-76

" SPACE FOR ROUGH WORK

2-A

6" Class



- Question Paper A
Booklet Cade

| (Telugu)
(Beoihd)

1 “Dod iy bt I&T a5 PNS SO, EHETI 2SR,

£ B8 HIRS OGS VTR HGoHos.
(1) >3 . 2) 13
() wrd - 4) Fod

2. TR0 8J0T TR H§ wod.
A HDS T8 HORoS @6;&)4 hgotiod.
(1) 53_(250530 ‘ | | (2) oo
() &30 (4) #6860

3. ED “eodf 6 % 508" emtd?
(1) §osodd , (2) &Ed
(3) dardeod 4) G5

4. ud auds 3IYod.
88 %58 S0 rdETroS’ 308 BoBIE HBoE0s.
(1) %0 @ @S
- (3) asTsio - @ S8zTS00

5. odwn IFCamEE Svnse.

BS A5 B0 ergrmost 308 BobSE® KHB0H08.

(1) oshrsée 2) oo
(3) o - . (4) 8o
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“2raso” SEg Gond “wE €57 D 378 BodS Sond? .
(1) Srggeos () ¥Bod
(3) S8@s. - .. (4) ombs
s wrer réoéawci'a.
A ADS B0 BETH0 B, BT Du§ Erdd) KH80H0d..
(1) o859 @ %
3) H& @) hoses
8. oo TEY BEGSH o8 $08 ErEtres BISESTEE?
(1) . ek 08 i Koo ‘ -
2) =gd Bor Sl |
(3) st $008 58 08
(4) ot 508 DB 5008
9. b L ©o8 QbF __ odtn,
D 3HEH $0S dTes poodod.
(1) %8, &% - O (2) >, B8
(3) %9, & () 8%, %8,
10. Soins &6 Huo WEIHHIIE.

B BHS BoSrddo O serds Boddo?

(1) #rdswo (2) SgsSrsso0
(3) . HdJge7 w0 o (4) %esoo0
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(3) DEEHTH | DSBS |
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12.

JE7gR) Uty A 330D E00?
(1) SHodden

(3) BSrmen

@

4)

.:g)émgw

e

13.

noTo Ho8% B Erdmabes BId.
P 850 @ 65@:663‘ Qe TeTntel

(1) Soz8 arggo

(3) #drsg g0

(2)
4)

Hoosng rEgo

BOSTErS g0

14.

“eBED” 6d Dods D508 EoH?

(1) ags
(3) s

| o
(4)

TS
35058

15.

Mdotvne ;’aoc‘.Sg S0 wodore) STofraTd.

(1) mrElen

(3) 3*5‘00. :

)
4)
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©O1T.

Sofisron B8~ FITHAE.D FEB aid?
(1) soms wn @) shme B8
(3) Sgo T8 (8 Swerge FE8
ABEBSHe adE HotoiSo Adootrs?
(1) ainse Hodok o (2) =oso St
'(3) @0 HodX (4) Do&s Hodol - .
18. o0 HoLrEHS Sogd) Dfotrd?
(1) 5780 2) Smggo
(3) oo (4) Sossso
19. S88teom widihs 5B $SOAFE) $PE® Bebs)8 S0 HEDoDS 7 6ok ©oBE,E
 Sossdasad. ‘ ' '
AS BBS HID) DEBAHT SYS SOG0S ErdrQ HBoB0B.
(1) oy + o> ) ®éy + BEDd |
(3) ek + otk (4) © + ekt .
20.

¥gos® ek HEFHE BoD, 188 BE B08N0d BHEFEE Bahenod ©B D TEETEHR?

(1) Doz 850 - (2) Boakog 850

' (3) EaSrGIr aEgo | @)

K)oéo“ﬁgé g0
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(English)

21.  Fillin the blank with a helping verb.

She "~ unwell last month. |
(1) was (2) is
(3) are ' (4) were

22. Choose aright preposiﬁon.—_ _ _
My birthday is 20 August, 2011.

(1) in (2) by

- (3) on - (4) with

23. Fortune favours the hard \;vorking. (Identify the right tenée of the verb) | _
(1) Present Continuous tense ' (2) Present tense

(3) Pasttense : - (4) Past Continuous tense

24. Fillin fhe blank With appropriate ‘WH’ question.
_did you keep your money? ,
(1) When N (2) Who
(3) Where . - (4) Which

25.. When do you get up? (Pick out the right answer)-
(1) Igotupat5am yesterday. ©(2) Twillget ﬁp at 6 am tomorrow.

(3) Iwillbe getting up 6 pm. - (4) Igetupat6am everyday.

V24-76 | A ' 6™ Class
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‘ " .Q.No.26t030: : Read the following passage and answer the questions below.

Matilda was a pretty and admirable girlbornintoa famﬂy of poor artisans in Parls Shewas
married to a small clerk in the Ministry of Educanon She wanted to en]oy every delicacy and
luxury. ‘ _ :

One evening her husband came home happily. He held an invitatiori toa birthday partytobe .
" held on January 26. Matilda started crying when her husband told her about the birthday party.. .

. She cried because she has no good dress for the occasion. The husband offered to buy hera -
sultable dress costing nearly four hundred francs. '

~ . 26. Describe Mat.ilda. | . | |
(1) - Clever and simple : ' (2) . Pretty and admirable

. (3) Dakandugly " (4) Simpleandshy

" 27." What was Matilda’s husband?
(1) enartisan - © - {2) aneducator

(3) aminister @) aclerk

28. ‘What was Matilda’s wish?
" (1) tobebeautiful (2) to become a minister

3 td enjoy every luxury ‘ - (4) to work with her husband

29. Why was Matilda sad‘7
(1) Because she had no good dress for the party
" (2) Because she looked ugly. )y '
(3) Because her husband didn’t allow her for the patty. |

(4) Because she was married to aclerk.

V24‘-,’>7.6 P | _— 8-A" - | - 6™ Class -
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Choose the right synonym for ‘strength’.

(1) keen (2) .po'wer '

3) erip - © () shadow

30, Matilda’s dress costed __
(1) Fourteen hundred francs
(2) Forty francs
(3) Fourhundred francs o
(4) Four hu_ndred fifty francs
31. Tsatonasmooth rock. (Find the antonym for the underlined)
(1) soft | (2) rough
(3) even ' (4) delicate -
32. “Keepsilence’. Where do you find this instruction? =
(N _outside a hotel _ (2) inacircusshow
- (3) inalibrary o "~ (4) inapet shbp
33. Addtheright punctuation mark.
The end of thejstory was very sad
(1) ?(Question mark) - - () .(Fullstop)
| (3) ;(Semicolon) | (4) !(Exclamation)
34,

v24-76] - - 9-A
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What is the right suffix for ‘fair’? -

- Question Paper

Booklet Code

(1) -able o @ -ful
@) -pess: (4) -ment
36. Whatisthe contractéd form of ‘I would’? ‘
(1) rd - @ T
3) I'm . . (4) I'd
37. Fillinthe blank with right word,
It’s a secret. Don’t tell
(1) something : , (2) anyone"
- (3) no one ' o - (4) some one
38, Which among the following comes first in dictibnary?
gléss, tree, action, knowledge |
(1) action | Q) ftree
(3) knowledge - (4) pglass
39. Which one of the following is NOT a compound word?
(1) newspaper . (2) rainbow
(3) sunblack , (4) blackboard
40. Fill in the missing letters in ‘ex_ib_t.

(1) h,i . (2) ji
(3). he @ i

V2476 0.4
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(Mathematics)
(Hd&0)
The smallest five digit number by using 3,0, 6, 8 and 9.

3,0,6, 8 %dcs0 9 & 3)63& ©d DE) 5 wose Jomg
(1) 36890 () 30689

" (3) 36089 | C(4) 38960

42,

Estimate the product 0f 4523 x 325 to nearest hundreds.
4523 x 325 eaaaga)ei.éﬁb‘;é' Sofess @o:ﬁ.v' JoS0 S0, |

(1) 1200000 (2) 1800000
(3) 1380000 (4) 1350000

43,

A factory manufactures 5125 cars 1n amonth. How many cars will the factory produce in
ayear? '

2.8 380 JokH 5125 Yo éotSJ"cfo B8, ®ond a8 Soddoes® 93&11 5°g0 Eoirdd
Hofnso?

(1) 61500 | ' (2) 60500

(3) 60000 : ' (4) 62000

44,

The difference between place value and face value of digit ‘6’ in the number 56432,

- 56432 Sopgs® ‘6’ @08 Do), LS Deod Hodokw Swop Jevde Bdo Jod?

(1) 5940 | 2) 6006
3) 5400 (47 5994

V24-76| | ' 11-A- 6™ Class
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Ravi bought 100 blankets w1th 39,500 t0 dlstrlbute to orphans What is the cost of each
blanket‘? .

T8 IR ALY aooeﬁ ?;'io‘.’méo §‘ao 100 C&ml’)éozéa ? 9 500.8 5‘3363 @o.m\’: ag‘é‘?,éb o

o pbe’ Jod?
Ly TS S (2-) L C
(3) T905 | (&) T85.

*

46.

. -Wnte the missing numbers in ‘rhe blanks to make the number 58-4- exaetly divisible by ‘9’7 |

58-4=< oospg ‘9’ ¥ JFhdom e;‘ﬁoazaaéoé.:o Prderes eS"ooiDaS ‘oozpsoéa @‘oﬁw;’m

wmoas o @ 3,6

O NS T @ 12

47.

The least common multipie of 4, 6 and 8 is _

4, 65005 8 g, EIF By Kosdao.

(1) 48 R (2) 72
(3) 62 . | - 4) 24

48.

‘Which of the fellowing is an obtuse angle?

808 T0S° B ©hE F'w0o? |
1 18 B 2) 180°
3) 127° | @ 230°

49..

Find the perimeter of a square with a side of 7 cm.

(1) 4% cm - (2) ‘.35 cm
(3) 28em (4 70cm ,
7 cm eﬁmomﬁu tﬁé’wd@o zﬁaéoa?e:é:\’n oo,
(1) 49 o.M, " (2) 3500,

(3) 28o.b @) 7008

V2476 . na 6% Class
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1
Halfpartofg is

1
gé‘ o D0e8?
1 ' '- | 1
1y L @) =
(1) 6 | | @ 7
1 |
&) 3 ' | ® 1
S51. 23.25+1.357 +0.0234 =2
(1) 24.634 ' | (2) 24.6304
(3) 36.8434 4) 264321 .
52. | Suppose you have 25 packets of sugar that weigh 3 1 kg 250 gms What isthe welght ofone

packet ifthey are equal in we1ght‘?
¢} 1 kg 500 gms ' ) 1 kg
(3) 2kg 150 gms . (4) 1kg250gms

©Q) LS aPKo 25 Hoserd FBEL Bndo 1KY 31 L. 250 rsoed wonSd
Q 3¢ wImon vlKomro. wond wEL Y Jodad e Y Jod?

(1) 18gr 500 e @) 1apese

(3) 2 &yr. 150 yrSooen (4) 158 250 prdoes

V24-76] B.A o 6% Class
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53. How many line segments are there in the figure?

DdrBoest .Di)ul '8:;3"5;30&3‘&:3391:? ’

A
4
)

w4+ @ s
(3) 10 | I €5

54. Which of the followirig represents % turn of the figure O

808 TS* 28 | BHtaso a»gz, % 50080 Sroo?
M > I ) \/
EIAEEIv}

55. Length of a rectangular field is 150 m and its breadth is 65 m. What is the total cost of
fencmg it at T 120 per metre?

28 BESEBEEE Foo 26 150 bo. $BaH e 65 Do, o wotay €D Batnb
2.8 DoerthHdo T 120 S0 Indo Jod PEY wiHI?

(1) T51,600 Q) ¥50,600
(3) 25,800 . (4) ¥ 56,000

[v24-76] 14-A - 6t Class
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56. How many right angles are thereina rectangie’.i
| 28 BEHSGHS* AY) vons e ﬁoé'ro'oa?
(1) 1 2) 4
3) 3 " 4 2

57. The bus departs from the terminal at 11 :20 am and arrives the destination at 2:40 pm. How

long did the bus travel? ‘ _
(1) 3 br. 20 min. _ (2) 3 hours
(3) 2 hr. 40 min. (4) 3hr.40min,

o8 iy @0os o K08 11 20 am% wokeatid 2:40 pm S Koy FSosk B,
239) Jod swo @oﬁo'ﬁoi'.)o&‘? ' -

(1) 3 Hon20n ' Q) 3 Hobew
(3) 2 Kou 40 du | | (4) 3 Kon 40 On
58. Fill the box 3 =3
763

3

7 63 ar@ ar§)o IrBoySm.

I 21 2) 9
3) 27 | 4) 18

59. 754672 + 1000 =
(1) 7546.72 (2) 754.672
(3) 754672 (4) 7.54672

Vie76] C sea . 6" Class
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60. Aperson soldaT. V forX 58 700 and got proﬁt %2, 500 on 1t What is the cost pnce of the .
TV’? : ‘

¥ 55_. & 2§ (T.V) éSX)R) T 58 700 SYS) @333,}253 038 od 2,500 erdso asat)m
woxnd 8. é’) 8 o Qod?. :

(1) 758450 R (2) 761200
@)y Ts57.800 . @) 256,200

61 . Whichof fol_léwing is not a prime factor of 2400?
8ob TRS* 6 2400 mz,.@m sSerofo TE?
Wz o7
®»s @

- 62{;-F_r.action‘ofs.hadedpartis. . . | | . : .‘ | %7 | '.y 1
'i;cS ?‘305323&956 ep*(i;’)méa BPDOLD ?:601;6_33» : _ : | ‘ //////// //// _
T R/

3 3

a4 o 4

®) - @ 5
63. 6,12,17,21, 7

(1 27 : ' (2) 25

(3) 26 | 4) 24

V24-76 | 16-A | | _' _6“‘ Class
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A juice bottle contains 2.6 l of j Julce How many 200 ml glasses are need to pour it

completely?

2.8 amgd &S 2.6 @ aenso §e")ﬁ $08. ¥d .Q)“Bn‘ POTAE Q) 200 . .o moen

3J3Yo?
(1) 26 (2) 13
(3) 20 @) 15
"65. Which of the‘following is a leap year?
Eob TIS* 9B Y SoSEEN?
(1) 3000 . . (2) 1800
3) 2100 (4) 2000
'66. Convert 250 ml into litres.
1 ’ .
m 3! @) 051
1
3) 251 @ 51
250 .8, o dfos® Srdys.
o1 | |
» 5o @) 056,
o ‘ 1 .
3) 2.58. @ 58
V24-76 17-A 6" Class
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. 67. 629=52x | +5

Fill the box.

7 o) Kg)‘bo‘é)a’n) '

miw @15
@z @6

68. 7 x 1000000 + 5 x 1000 +4 x 1.= |
(1) 7050004 S (2) 7005004
(3) 7000504 o (4 7000054

69. Length of side of the each square in the below ﬁgure is 1 unit then area of the figure is
__5q. units.

1808 DHeadne’® a.‘.’)sea&é ®8 zﬁéocS@o a‘bwo >EH 1@.‘6.:‘590 wond HEo ook,

IFTOgo BEED @a’mea"m
(1) 4 2) 16
(3) 10 - 4) 12

70. H.C.F.of7and 12?

| 750050 12 © KA. dod?
1 7 @ 12
Gy 1 L 4) 84

V24-76] | 18-A B | 6'" Class |
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(Environmental Science)
(B050°0 Dapsism)

71. . Itis also known as ‘Andhra Kashmir’.

(1) Horsley hills (2) Araku
(3) Lambasingi o (4) Bapaﬂa
‘BoEs 5 T D FodSH.

1) &) s ' Q) esk
(3) eoxdon o 4) ==&

72. Total natural satellites of the earth.
Fraod Ho Jodgo Hare GIESTe,
(1) 4 ' @ 3
(3) 2 | ) 1

73.  (A): Agriculture is the main occupation of 74% of people in Andhra Pradesh.
(B) : India is the second largest producer of rice and wheat in the World.
Identify the correct answer ﬁ'om the above information.

(1) (A) and (B) are correct
"~ (2) (A)iswrong (B)is correct

(3) (A)is right (B)is wrong

(4) (A)and (B)are wrong

(A): &90@5@6%’6‘ 74% Puo B 58 Sgdraho.

(B): 56, Wiy #&BS* Frdsddo HoBos® 25 Fos* ok,
DS 26 S0bS dSrardo S0 Hdwons JHSrgrard) fhgowod.
(1) (A) 58050 (B) Bodr H8e005d.

2) (A) %85 (B) $356

(3) (A)#058 (B) $85°¢H

(4) (A) 8050 (B)Bodkr 505+

V24-;76 - 19-A | o 6™ Class
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74, Name of the left canal of‘Nagarjﬁna Sagar

(1) _'Jéwaharcanal ' | B (2) Gandh1canal o
. (3) Lalbahadurcanal ) Bhagat Smgh canal -

TITGRSTEE S0, IE% TS D

(1) #556 sens @) mob wens

(3) oS aFdrs srend R 4) .e;Sﬁé‘ﬁqo‘ﬁ'S"eJoa’)

75.

Identify the cérrect _sequenée of 1n0v§ments that tdo,k place as part of thé freedofn struggle. -
(1) Noﬁ—cé-operation Salt édtyagraha Quit India
(2) Saltsatyagraha, Non—co operatlon Quit India
3) Qu1t Indla Salt satyagraha Non-co-operatlon
(4) - Salt satyagraha, Quit India, Non-co—operatlon -

Fgogy Forrod” grflom 2BAD wdgdTre 9666 5% Lgaﬁaoééo ﬁa&oiﬁo&

(1) J55cHATE8e, 6393 dergifsro, §5€5 Qodosy
(2) &dy dergisro, éé‘o‘éo&)o*ééea, 8¢&S ao&q&v

1(3)' ~ 8ed5 ao&oﬁr, &Iy degisro, éﬁ‘oﬁ:{&)c‘édsa

(4) oy dergiisro, & Bobokr, HTCHITES

76.

A process carried out immediately after harvesting'the rice crop is

(1) Storing . ] 7 (2) Winnowing .
(3) Mllllng . 4) Threshmg
3’36030&3 §‘ea:6 Sorgs ITobd BHY @@o:ia

M :‘005 Haoddo C () SroyBaydo

(3) HogdBousdo (4) Srgso

V24-76] A 6% Class
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71. Find the odd one out |
(1) Bhima . - - 7 (2) Premchita
() Koyna " (4) Tungabhadra
D98 o hiotiod. o
(1) &% i -' (2) &owd
(3.)._ §°oso$ | @ éooneﬁ@s'
78 The minimum facilities required fo‘r human survival are called bf this name,
(1) Necessity . o I (2) Comfort
(3)' Luxury ‘ | ' (4) Poverty
Sootoen BEETDE SHObS EbH SHIrOH & HHE beodd.
(H :eaéa’alo‘e;o. (2) ®sogen |
(3) DeordFren L - (4) "adEo
79. Alander naméd “Vikram’ is associated with this artificial satellite.

(1) Chandrayaan-l - . (2) Mangalyaan-1
(3) Chandrayaan-2 (4) Mangalyaan-2

| AED’ 03 B Ko ergods & Ey85 &BHHNE HowoRodBB.

(1) Sogess - 1 T (2) Ho0K65rS - 1

(B) PodesrS -2 (4) 0160505 -2

-1 V24-76 | . 21-A
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| State in 6ur country that is not related to the Coastal region.
(1) Kamamka | @) Telangama
(3) TamilNadu (4) Kerala
 So58H0es 88Frogos’ 5020508 c‘éo ‘
(D §o:iéa§ o .‘ , . (2) Beorm
(3) émswd 4) 58 |
§1. Village Sarpanch is elected by R
(1) Elders of the village K& 'AIIfhepeoplé in the village
(3) Villagewomen | 4) V_ofers of the village
% S8yold 20T AS'de . .
(1) groos™ Deo | 2) .@‘;Soo_es‘;&) Boolsr
(3) oS Sotrven @) rsost L
'82. Who were the first Europeans to come to India for trade?

(1) The British (2) ThePortuguese

(3) TheDutch | ~ (4) TheFrench

TESATIE 5880 §B0 S00HT SDYS WEFTEH S?

(1) HBET _ (i) B it ]

() &Sz (4) @oST

V24-76 22-A ' : - 6" Class
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83. It can be said to be the main crop in Prakasam District.

(1) Tobacco
(3) Com

@
(4)

@5do 2eres® Herd DHoborr HAY VWSS,

Wheat
Chilii

(1) 2 - (2) oo
(3) DGRy (4) 283
84. “Global Wérming’ refers to this
(1) Diminishing heat (2) Morerains .
(3) Risingheat ‘(4) Less rains
Fod 8of ©38 83 JrdByod
(1) Sadred) 3& (2) Soew S TG0
(3) oA 38 (4) Sonen &8 S0
85. Capital city of Gujarat
(1) Gandhi Nagar (2) Bhopal
(3) Hyderabad (4) Kolkata
Houos o°f Taed
(1) mobsSKs (2) §>S
(3) Tooers (4) §SEg
V24-76 73 A
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| ~ 86. The best irrigation method in water scarcity areas is
-(1)_' Field irﬁgé_tion' -
(@) Furfow irrigation
(3) Sprinkler irrigation
: '(4) : D_rip irrigation
58 583 wpsor &) @uéaaoesf SEPS OE Fose Bg8
(1) 46 b8 w80 | | | |
Q) oy b8 dhde
(3) Q)85 88 e |
(4) Docd Desgo |

87. Which material degrades the soil fertility? _ . |
(1) Chemica! fertilizers . (@) _C;_mpost.
(3 Cowdmg . (4) Remains of plant
3o >oR) dhoh BEgo DB? | |

(1), Sosas e @ ste dbe
@) eyha a (4) 3o esires
88. The frog resembles a small fish in stage of its life cycle.
- (1) Young ﬁ'dg (2) Larvae
(3) ~Adult’ .' . " (4) Beggs
g5y 8% 4068 HEos'D st 0% Bd% O Bodnod.
(1), DESy o | (2) oo
(3) @4 8¢ ' - | 4) rbc&:m

V2476 UA . 6"Class. - -
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89. The material which is not used in the organic farming is
(1 Pesticides o (2) Vermicompost
(3) Animal excreta - (4) Oil cakes
ook SgE;aoSt TED dergo I8? B
(1) BHodssE Soden | (2) S8 805
(3) wmodPHo Sgped ' (4 3 7Y,
90. To produce one kilo rice | _litres of water is needed.
(1) 1000 to 2000 ) . (2) 500 to 1000
(3) 3000 to 5000 S (4) 2000 to 3000
2¥ 8 58 &y Bohmds Htag > w560
(1) 1000 %204 2000 : o (2) 500 S00& 1000
(3) 3000 &08 5000 S (4) 2000 S08 3000
91. Identify the correct ﬁrst aid to burns. - -

(1) Clean the wound with soap water using wet cotton.
(2) . Apply tincture iodine to wound with cotton.
(3) . Ointment must be applied on the wound.

’ (4) Putaplaster on the wound..

5085 Mard8 Dok $BS BES DS KHRoTod.
(1) &6 6rBd SHSBrhod mard) Sy DBS* L6 Bgo Bosrd.
(2) a8 oo Bof) wRrESD IS,

(3) oo BS0 PO,

(4) mohoD TP Sosrd.
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92. & This traffic Signal indicates
(1) No entrance ahead.
(2) Crossing of roads is ahead.
(3) Pedestrian crossing is ahead.
(4) U-turnis ahead.

A & 1@r2E Do BAD “rdBR0H?

(1) Swod BIF Srgo Bk,

(2) Swo areoth 8¢ ErEd (TS ¢od.
(3) oo SIS T8 Srfo Hod.

(4) 5006 U - oo 408,

93. Identify the incorrect statement.
(1) Revolution of earth causes day and night.
(2) The movement of earth around the sun is revolution.
(3) Revolution takes about 365 days.
(4) Earth completes one rotatlon in 24 hours.
285 T57gA) Hfowod.
(1) SrHOE B0 SO Bies $00%0 TS ) o08.
(2) o 88 by &l D& drdogd oty édﬁa‘&)ﬂl eﬁraa@ﬁ;’wmo WOLT .
(3) &rddEidomosy coo;’n‘fﬁa 365 faren Do,

(4) &0 85 Sty e BEKEIE Jododorr 24 Kol HBo&oob.
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94. are called the ‘lungs of earth’. _
| (1) Rivers (2) . Himaayas
(3) Forests (4) Deserts
‘DSB8 oD 6D o woirt.,
(D). .‘SCSoej:o (2) Tdrocires
(3) @é@ml (4) dmden
95. Which plant :is used to make linen clothes?
| (1) Cotton | | (2) Flax
(3) Hemp Sisal

(4)

D 3ok, S008 BAS koo ST BaH?

(1) %8 (2) @
(3) =3%5¢ (4) &8¢
96. ~ The length of our small intestine is

(1) 4 metres | (2) 2 metes
(3) 9 metres (4) 6 metres
508 DY) i PEP dos?
(1) 408 (2) 208
(3) 9wad (4) 6008
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. 97. Identify the activity to.s_aveoi:r earth. -

(1) - Release of indli_strial wastes into water bodies.

(2) Cutting of trees.
- (3) Ban u;agé of pfastic covers.

(4) Burning of'Wastes'and fuels.

508 ErD0d SOHES KEgosd Hood.

(1) FoED8 Sgpess S8 SE8RETE SSHeow.

(2) By Sokb.

(3) %F €56 TdsR) Fhdomb.

(@) sgzo, vogTom K080,
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98. Which is not a reason for‘mig_r_ation of people?

@) Famines _
(2) Transfers
(3) Natural calamities

(4) Field trips

Breoo Sod ok FEwo sIG 8?7

(1) soden
(2) 26dw
(3)- WS IH0aergen

{4) B8 ddghaden

V24-76
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99. Which organ, filters the impurities from our blood and sends out as urine?

| Question Paper A
Booklet Code

(1) Stomach P (2) - Lungs
(3) Kidneys o . (4) Heart

508 $505%) HOT O SEKY, SFo ErBos® woBE Boh eSchSo DE?

(1) #gicso . (2) 4s2d&&en

3) 8&eo | | @) HoB

100,

Which device is used for listening heart beat?

(1) 'Micr(‘)scope‘ _ | ‘ (2) Telescope _

(3) Stethoscope. g 4) . Thénnometér

S $YoESS0 DSTE BBBPACN: BBEG0 D87

(1) segenyd | (2 BoanSs -
(3) 28,5 | (@) egsosto
goog
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